14000

12000

10000

BO00

6000

4000

2000

14000

12000

10000

BOOO

G000

4000

2000

Run 5225 quartetwise, posHQ: Beam DH

. Entries: 0 Entries: 82559 aam1_1ach._pocHo
: Laser DN Mean: U.:L'r:is- - O ME‘EH!ITU":::':E-H #i- D03 82539
[ — Laser OFF S1d Dev: 0.0000 +- 0.0000 | Std Dev: 1.2381 4 p.00aa | —0-006388
B = ooV 1.236
L1 Lo | ' [ v v v v v v v v by gy
—4 -2 0 2 4 6 B 10 12
Run 5225 quartetwise, asym0Osub: Beam ON
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Run 5225 quartetwise, negHO: Beam DIN

—— Laser ON
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Histogram Vars

Positive Hel (ON): 0.000000 +/- 0.000000
Negative Hel (ON): 0.000000 +/- 0.000000
Positive Hel (OFF): -0.006388 +/- 0.004302
Negative Hel (OFF): -0.008001 +/- 0.004297

Sums and Diffs

On Diff: 0.000000 +/- 0.000000
Off Diff: 0.001613 +/- 0.001319
On Sum: 0.000000 +/- 0.000000
Off Sum: -0.014389 +/- 0.008497

........ Asymmetries

On Asym: 0.000000 +/- nan (ppt)
Off Asym: 112.081570 +/- 113.070546 (ppt)

-------- Bkgd Subtraction

BkSub Sum: 0.014389 +/- 0.008497
BkSub Asym: -112.081570 +/- nan (ppt)




Run 5225 quartetwise, bcm vs time
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